ATL4A Legrest Support Assembly

A
28
N\

- /(/‘\

RN e,

See Calf Pads and / i PR %/ S
Ratchet Assemblies page. QRN

1082540 Right

AN ALY 2 /‘@ : \\/
1082541 Lefe  (2020(i6) (L.




ATL4A Legrest Support Assembly

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
1 1022877-NLA | NLA - Tube, Support and Drive Link, Chrome - Right 1 1
1 1022878-NLA | NLA - Tube, Support and Drive Link, Chrome - Left 1 1
2 1024911-NLA | NLA - Decal, Smartleg 1 1
3 1014807 Screw, Hex Head (5/16-24 x 3-1/4") 1 1
4 47330X003 Spacer (5/16 x 1/2 x 3/8") 1 1
5 7930363-NLA | NLA - Package, Locknut (5/16"-24) 25 2
6 1027377 Washer (#20) 1 1
7 11232X009 Bolt, Lug (5/16-24 x 1-3/8") 1 1
8 1025454 Housing, Latch - Right 1 1
8 1025455 Housing, Latch - Left 1 1
9 1025451 Screw, Slotted Hex Washer Head (#10-32 x 5/8") 1 2
10 7930314 Package, Screw, Slotted Hex Washer Head (#10-32 25 1
x 1/2")
11 7930333 Locknut (1/4-20) 1 1
12 1029501 Plug Button, Black (1") 1 1
13 1027097 Plug Button, Black (3/4") 1 1
14 1082538-NLA | NLA - Tube, Legrest Support, Articulating, Sector, 1 1
Chrome - Right
14 1082539-NLA | NLA - Tube, Legrest Support, Articulating, Sector, 1 1
Chrome - Left
15 1022854-NLA | NLA - Screw, Shoulder Slotted Head (1/2 x 1-1/8", 1 1
3/8-16)
16 40363X000 Hex Nut (3/8"-16) 1 3
17 B 1025104 Bracket, Legrest, Chrome 1 1
18 04526X019 Plate, Legrest Pad 1 1
19 1022848 Tube, Slide, Articulating, Chrome - Right 1 1
19 1022849 Tube, Slide, Articulating, Chrome - Left 1 1
20 1022866-NLA | NLA - Screw, Socket Button Head (3/8-16 x 3/4") 1 2
21 1049527 Washer, Nylon (3/8 x 3/4 x 1/16") 1 2
22 1025133 Spacer, Legrest Pad, Black 1 1
23 1022846-NLA | NLA - Bar, Link, Black 1 1
24 47328X003 Bushing, Pivot (5/16 x 7/16 x 7/8") 1 1
25 48823X008 Spring, Leaf 1 1
26 1017148 Pivot, Footrest 1 1
27 7930301-NLA | NLA - Package, Button Head Cap Screw (1/4-20 x 25 1
1-3/4")
28 A 1082540 Articulating Legrest Support Assembly, Sector, 1 1
Chrome - Right
28 A 1082541 Articulating Legrest Support Assembly, Sector, 1 1
Chrome - Left
NOTE: A - Includes items 1-27

B - Right/L eft




